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SR S=ER" Si 1000 1500 2000 2500 3000
% = 5 2(g) 384 648 1066 1440) 1872
T-20 o E O 0.05 0.08 0.13 0.18 0.23
BEIEES(A) 0.13 0.22 0.35 0.49 0.63
2 EZE2ke) 288 576 864 1200 1584
T-14 TR0 0.04 0.07 0.11 0.15 0.20
BEIELS(A) 0.10 0.19 0.29 0.41 0.54
s =@ ake) 240 43 672 840 1152
T-6 I IRON) 0.03 0.05 0.08 0.10 0.14
BEBIELB (N 0.08 0.14 0.23 0.29 039 |
2 =8 2ke) 240 360 480 600 864
T-2 O 0.03 0.05 0.06 0.08 0.11
BEIEES(N) 0.08 0.12 0.16 0.21 0.29
% = & B(k) 87 130 173 216 259
W-500 |t B &0 0.01 0.02 0.02 0.03 0.03
BIEES(N) 0.03 0.04 0.06 0.07 0.08
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